
SAP ABAP table REMIC_MIG_MEAS_X {Conversion of Area Type and Apportionment Unit to Meas.Type}

REMIC_MIG_MEAS_X

MANDT [CLNT (3)]

SABRG [NUMC (4)]

SFLART [NUMC (4)]

MEAS [CHAR (4)]

SFLART_SUM [NUMC (4)]

AREA_SFLART_SUM [NUMC (4)]

ATINN [NUMC (10)]

SNKSL [CHAR (4)]

CABN

MANDT [CLNT (3)]

ATINN [NUMC (10)]

ADZHL [NUMC (4)]

 REMIC_MIG_MEAS_X-ATINN = CABN-ATINN 

0..N

0..N

T000

MANDT [CLNT (3)]

 REMIC_MIG_MEAS_X-MANDT = T000-MANDT 
0..N

0..N

TIV07

MANDT [CLNT (3)]

SABRG [NUMC (4)]

 REMIC_MIG_MEAS_X-SABRG = TIV07-SABRG 
0..N

0..N

TIV08

MANDT [CLNT (3)]

SFLART [NUMC (4)]

 REMIC_MIG_MEAS_X-SFLART = TIV08-SFLART 
0..N

0..N

TIVBDMEAS

MANDT [CLNT (3)]

MEAS [CHAR (4)]

 REMIC_MIG_MEAS_X-MEAS = TIVBDMEAS-MEAS 

0..N

0..N

TIVMISETMEAS

MANDT [CLNT (3)]

SABRG [NUMC (4)]

SFLART [NUMC (4)]

 REMIC_MIG_MEAS_X-AREA_SFLART_SUM = TIVMISETMEAS-SFLART 

0..N

0..N

 REMIC_MIG_MEAS_X-SFLART_SUM = TIVMISETMEAS-SFLART 

0..N

0..N

TIVSCSCKEY

MANDT [CLNT (3)]

SNKSL [CHAR (4)]

 REMIC_MIG_MEAS_X-SNKSL = TIVSCSCKEY-SNKSL 

0..N

0..N


